{I

(9N]
[fe)
i
_._._._m._
M X
L g
(o]
Cz
< 3
Sy
T U
™~
R0

WWW.agros.co.kr

2

>
T

Tel:031-8057-9311 Fax:031-8057-9313

AR5230HD/AR5240HD /AR5250HD / AR5260HD

i)
=]
S
w
M
{I
IH
N
@)

AR5000HD A|2|




AGROS =0 l= 2x

=2

fu
m
=
o
m
b
o
o

2.

3.

4, ZEMOIE] & ZBh. ..o 7
ST (0] L=2u 7 - S 8
6. AMOIEE/S ZBh...oee 10
7. BIOIAE ZBh 12
8. RAH ZRh..oe 13
0. B 15

OazA= 2 REESHE "Ue 202" MSsiH, SAIH0IE SAIXO0I= omeh Felo| BSE ofX| S&U T
= EEE5HE 3 S5 ArEEIUCLL OfaRAE QFLE F240] Tisl ofme MU X|X| t&LCH E3 2 RE55580| LefE 2
ANESIoz N LS o U= 2oliol T e MUS X|X| &L OfazA= ROl et MES a8t iHE Halg BERota AU
= 2EE5Hs 2 GA MEe dEE iEez HYEUeH, ol HAE ME JEE vIIsH §E 4 AU

0l

Eé o
0| FE==80|| L& 0|0|X|= FHIS oA Z&Is7L Zdlickes WS Qtishy| fIgt 20| ofd, &

o
o
AO
mjo
1
14
|0
il
Pl
O
o
i
__IT‘_

AR5000HD 1



1. ZEIH[O[E] &gt

AGROS =g I3

Section 1| 1/2

I
AR5230HD AR5240HD AR5250HD AR5260HD
R5230D—1000C 1
T e — R5240D—1000C 1
R5250D—1000C 1
R5260D—1000C 1
R5230D—2000C 1
2> | 7100t xa R5240D—2000C 1
R5250D—2000C 1
R5260D—2000C 1
3 | Alo|ETR/R =3 R5210—3000A 1 1 1 1
4 | AlO|=Tt/E} =5t R5210—4000A 1 1 1 1
R5230-5000D 1
5 | ZERO|E & X8t R5240-5000D 1
R5250-5000D 1
R5260—5000D 1
6 |EOrAE =3 R5210—6000H 1 1 1 1
R5230D—7000 1
7 i x8 R5240D-7000 1
R5250D—7000 1
R5260D—7000 1
8 |AHE R5210-8100 1 1 1 1
9 |Z=zElEal R5210D—1800B 2 2 2 2
10 |stRal=m R5210-0020 2 2 2 2 @28
11 | ARE TMm R5210-0030 1 1 1 1 @12
12 | 2lo{#H 51X 2t R5210-0040 1 1 1 1 5T
13 | mEese R5210-0050 3 3 1 1 6T
R5260—0050 2 2 6T
I P R5210—-0060A 3 3 1 1 4T
R5260—0060A 2 2 4T

AR5000HD



AGROS Jap ]3]

1. ZEH|O[E] =gt

Section 1| 2/2

o] o[ o
AR5230HD AR5240HD AR5250HD AR5260HD

15 | AZEM WS14M 8 8 8 8 M14

16 |23l4E NL14150Z 8 8 8 8 M14x1.5P

17 |23m PL10045 10 10 10 10 @10

18 |R-E PR30045 1 1 1 1 @3

19 | B8 PD05050 1 1 1 1 @5x50L

20 |EE BH0855125Z 12 12 14 14 M8x25L

21 | AZEIQIM WS08M 12 12 14 14 M8

2 |HE NH08125Z 12 12 14 14 M8

23 |ugd R5210—1220 4 4 4 4 38T

24 |BE BH14S7150Z 8 8 8 8 M14x140Lx1.5P

25 |Ezges P280-2150 4 4 4 4 @28x215L
AR5000HD 3



AGROS Jap ]3]

ol o | *
AR5230HD AR5240HD AR5250HD AR5260HD

1 | 7]o{8fAHLC]| AR5210D—2110B 1 1 1 1 aT
2 |PTOZ R5240D—2120 1 1 1 1 @52
3 |YEE R5210D—2130 1 1 1 1 @50
4 |ElolmE2H ol 32209 1 1 1 1
5 |HIO|mZ2{H o 32308 2 2 2 2
6 |HE7|of Zat R5210-2140 2 2 2 2 @50
7 |dHE|of R5210-2150 1 1 1 1 M6x16T
8 |HE|of R5210—2160 1 1 1 1 M6x19T
9 |HE|of R5210-2170 1 1 1 1 M6x17T
10 |HE|of R5210-2180 1 1 1 1 M6x18T
11|71 R5210D—2190 1 1 1 1 M7x14T
12 | HIO|EZ2{H o2 30310 1 1 1 1
13 | 7tAZ (2]0]) AR5210D—2200B 1 1 1 1 2T
14 | 7}AZ (ZEE) R5210D—2210 1 1 1 1 05T
15 | 7tAZ(E) AR5210D—2220A 1 1 1 1 0.5T
16 | 7tA3l (AtO]=) R5210—2230 2 2 2 2 0.5T
17 | 7]0{EtA SIFH AR5210D—2250B 1 1 1 1
18 | =Y R5210D—2260 1 1 1 1
19 |EHH AR5210D—2270A 1 1 1 1 8T

R5230D—2300 1 1 1 1
2 | MzE xS R5240D—2300 1

R5250D—2300 1

R5260D—2300 1

R5230D—2400C 1

I R5240D—-2400C 1

21 |E2lo|EMZE x§l/3}

R5250D—2400C 1

R5260D—2400C 1

4 AR5000HD



AGROS Jap ]3] 2.71o

t

d

5
by
i

o] | s
AR5230HD AR5240HD AR5250HD AR5260HD

2 |A R5210-2510 1 1 1 1 0.1T

23 |A R5210-2520 1 1 1 1 0.2T

24 | A R5210-2530 1 1 1 1 01T

25 | R5210—2540 1 1 1 1 0.2T

26 | 2|oiLt 456510 1 1 1 1 @65x @ 45x10L
27 |AZEIIM WS10M 9 9 9 9 M10

28 |EE WS10M 6 6 6 6 M10x35Lx1.25P
29 |AZZIIM WS08M 4 4 4 4 M8

330 |EE BH0855125Z 4 4 4 4 M8x25L

31 |AZZIIM WS12M 20 20 20 20 M12

32 |[BE BH1266125Z 20 20 20 20 M12x30Lx1.25P
33 |AzZEIM WS14M 4 4 4 4 M14

34 |BE WS14M 4 4 4 4 M14x35Lx1.5P
35 | FRFOPH PF1/2PLUG 1 1 1 1 PF 1/2

36 | 2UA0IX]| OD5K0465—136038A 1 1 1 1 PF 3/8

37 | Z2aopi PF3_8—SEAL_PLUG 1 1 1 1 PF 3/8

38 | 7tAZ(PTO) R5210D-2240 1 1 1 1 0.5T

39 |ZEEIH R5210D-2280 1 1 1 1

40 BE BH1055125Z 3 3 3 3 M10x25Lx1.25P
4 (A R5230JC—2550 1 1 1 1 01T

2 [N R5230JC—2560 1 1 1 1 0.2T

43 o R5210-2570 1 1 1 1 01T

44 N R5210-2580 1 1 1 1 0.2T

AR5000HD 5



3. Calo|EMEE/A X5 AGROS =20 =]

A 2k
2y £ o bl 2
AR5230HD AR5240HD AR5250HD AR5260HD

R5230D-2400—100B 1
1| eaommme/E R5240D—2400—100B 1
R5250D—2400—100B 1
R5260D—2400—100B 1
2 | HI¥7|of R5210D—2440 1 1 1 1 M2.5x23T
R5230D—2450A 1 @55
_ R5240D—2450A 1 @55
3 |EzolEE
R5250D—2450A 1 @55
R5260D—2450A 1 @55
4 | E2lo|2S et R5210-2490A 1 1 1 1 @60
5 |2ldLt 60x95x10 1 1 1 1
6 |Elo|mHEa{H|o{ 30310 1 1 1 1
7 | E2jo|27]0] Lzt R5210D-2460 1 1 1 1 @60
8 |=23aulE/=atole R5210D—2480 1 1 1 1 M45x1.5P
9 |Ez|EJ]o R5210-2470 1 1 1 1 M7x18T
10 |&EolHE NC42150Z 1 1 1 1 M45x1.5P
1 o-& 1BG50 1 1 1 1 @50
12 | Elo|mHE2{H ol 32213 1 1 1 1
13 | 2gm PD08080 1 1 1 1 @8x80L

6 AR5000HD



AGROS 3G l= 4, ZEHH|O|E = =&t

A 2k
2y £ o bl 2
AR5230HD AR5240HD AR5250HD AR5260HD

R5230-5100D 1
1 ZEmolE = R5240-5100D 1
R5250-5100D 1
R5260-5100D 1
2 | 22ol=/? R5210-5010A 27 27 30 30 8T
3 | =Edol=/zt R5210-5020A 27 27 30 30 8T
4 |ZS20|EEE R5210-0056 108 108 120 120 M14x1.5Px42L
5 |ADZIM WS14M 108 108 120 120 M14
6 |LE NH14150Z 108 108 120 120 M14x1.5P

AR5000HD 7



5. AIO|EE/z} =8t AGROS =[]

ol o [
AR5230HD AR5240HD AR5250HD AR5260HD
1 | Alol=E2il =8/2 | R5210-4100C 1 1 1 1
2 | Hjoj2Ao]A/zt R5210-4010 1 1 1 1
3 d=x/xt R5210-4020 1 1 1 1
4 |dEcsgol=7|of R5210-4030 1 1 1 1 M7x32T
5 | 2HEH R5210-3030 1 1 1 1 47
6 |OlS71of R5210-4040 1 1 1 1 M7x40T
7 | HIo|HE2{H|0o{Z 30212 2 2 2 2
8 |OIE7|of &zt R5210-4050 1 1 1 1 @76
9 |EdoE R5210-3060A 1 1 1 1
10 |OIE7101= R5210-4060 1 1 1 1 @60
11 | 2324M R5210-4080 4 4 4 4 1T
12 | 7tA3 (A==/EH R5210-4210 1 1 1 1 1T
13 | 7IAZ (AtO|=E) R5210-4220 1 1 1 1 05T
14 | 7tA3 (AtO|=7{H) R5210-4230 1 1 1 1 2T
15 | AlO|EFH R5210-4300C 1 1 1 1
16 | A7|= =§l/zt R5210—4400C 1 1 1 1
17 | 5H |SU3T/zt R5210-451A 1 1 1 1 5T
18 | HZAIE= R5210-305A 1 1 1 1 10T
19 | AH2[ZE2HOY 22212 1 1 1 1
20 |E=g4 SJ0730 1 1 1 1 @73x@92x31.8L
21 | A SN110F 2 2 2 2 @110 (INTERNAL)
22 |E=0|HE NC50150Z 1 1 1 1 M50x1.5P
23 o0& 1BG40 2 2 2 2 @40
24 |EE0|HE NC45150Z 1 1 1 1 M45x1.5P
2% | E2E BH1066125Z 20 20 20 20 M10x30Lx1.25P
26 |=EE BH1077125Z 8 8 8 8 M10x35Lx1.25P
27 | AZZUSLM WS10M 22 22 22 22 M10

8 AR5000HD



AGROS 3¢ ]3] 5. Alo| =X/} X8t

Section 5 | 2/2

A 2k
2y £ o bl 2
AR5230HD AR5240HD AR5250HD AR5260HD

28 |R3l{E NL10125Z 20 20 20 20 N10x1.25P
29 | oM WP14M 8 8 8 8 M14

30 AN WS14M 15 15 15 15 M14

31 | EE BH1488150Z 9 9 9 9 M14x40Lx1.5P
32 |[2E BH1033125Z 2 2 2 2 M10x15Lx1.25P
33 |[=2E BFS1285175Z 3 3 3 3 M12x40Lx1.75P
34 |AD WD12M 3 3 3 3 M12

3B HE NH12175Z 3 3 3 3 M12x1.75P
3% |E2E BH14D7150Z 1 1 1 1 M14x65Lx1.5P
37 |[2E BH14B7150Z 1 1 1 1 M14x55L.x1.5P
38 HE NH14150Z 7 7 7 7 M14x1.5P
39 |[=2E BH1477150Z 4 4 4 4 M14x35Lx1.5P
40 |2E BH1266125Z 3 3 3 3 M12x30Lx1.25P
41 | AIZRIM WS12M 3 3 3 3 M12

42 |[HE NH12125Z 3 3 3 3 M12x1.25P
43 |2 PD08080 2 2 2 2 @8x80L

44 | FRFOY PF1/2PLUG 1 1 1 1 PF1/2

45 | Z2{a0opl PF3_8—SEAL_PLUG 2 2 2 2 PF 3/8

AR5000HD 9



AGROS Japi=

ol | = *
AR5230HD AR5240HD AR5250HD AR5260HD

1 | AO|EEZE X8/ | R5210-3100B 1 1 1 1

2 | AFIEXEYR R5210-3200C 1 1 1 1

3 | Hloj2Ao|A/2 R5210-3010 1 1 1 1

4 |dEx/2 R5210-3020 1 1 1 1

5 | 2E{&EIH R5210-3030 1 1 1 1 g

6 | Hloj2FH R5210—3040 1 1 1 1

7 | SHod 6310 1 1 1 1

8 |23lE/caol R5210—2480 1 1 1 1 M42x1.5P

9 |BExAIE R5210-305A 1 1 1 1 10T

10 | Z3o|E R5210—3060A 1 1 1 1

11| 7EAZ(H 02 HH) R5210-3070 1 1 1 1 1T

12 | 7IAN(AES/R) R5210-3080 1 1 1 1 1T

13 | AIO|EEH Z20]E/2 | R5210-3310 1 1 1 1 8T

14 | &H B2/ R5210—-351A 1 1 1 1 5T

15 | AZaUM WS14M 25 25 25 25 M14

16 |4HE NH14150Z 3 3 3 3 M14x1.5P
17 |2 BH1488150Z 19 19 19 19 M14x40Lx1.5P
18 |EE BH14B7150Z 1 1 1 1 M14x55L.x1.5P
19 |EBE BH14D7150Z 1 1 1 1 M14x65Lx1.5P
20 | AZaUM WD12M 3 3 3 3

21 |YE NH12175Z 3 3 3 3 M12

2 |2E BFS1285175Z 3 3 3 3 M12X40L
23 |EE BH12A6125Z 6 6 6 6 M12x50Lx1.25P
24 | AZEotM WS12M 9 9 9 9 M12

25 |EE BH1477150Z 4 4 4 4 M14x35Lx1.5P
26 |23alyE NL14150Z 14 14 14 14 M14x1.5P
27 |2E BH1266125Z 3 3 3 3 M12x30Lx1.25P
10 AR5000HD



AGROS Jap ]3] 6. AlO|=ET/2 X§

A 2k
2y £ o bl 2
AR5230HD AR5240HD AR5250HD AR5260HD

28 |4E NH12125Z 3 3 3 3 M12x1.25P
29 | HetM WP14M 8 8 8 8 M14

30 |[Ezg SJ0730 1 1 1 1 @73x@92x31.8L
31 | mo|=apsy PIPE-PLUGO14SH 1 1 1 1 PT 1/4

AR5000HD 11



tAE x5 AGROS =[]

Section 7 | 1/1

A 2k
£ o bl 2
AR5230HD AR5240HD AR5250HD AR5260HD

HH
)]

1 | E2tziHi| R5210-6100F 1 1 1 1

2 | EoAE/R R5210—-6200G 1 1 1

3 | EotAE/E} R5210-6300G 1 1 1 1

4 = R7240-6010 1 1 1 1 @25

5 |=2E BH14M7150Z 4 4 4 4 M14x110Lx1.5P
6 | AZZUM WS14M 4 4 4 4 M14

7 |4E NH14200Z 4 4 4 4 M14

8 |EE BH16B9150Z 10 10 10 10 M16x55L.x1.5P
9 | AZ2IAM WS16M 10 10 10 10 M16

10 |4E NH16150Z 10 10 10 10 M16x1.5P
11 |33 PL10045 1 1 1 1 @10

AR5000HD



AGROS J=2p ]2

Section 8 | 1/2

o] |
AR5230HD AR5240HD AR5250HD AR5260HD
1| glx|=as R2180-7100 1 1 1 1
R5230D—7200A 1
R5240D—7200A 1
=Rkl R5250D—7200A 1
R5260D—7200A 1
3 | AH4ER = R5260D—7300B 4 4 4 4
4 | AO|= RFH/S R5210-7400A 1 1 1 1
5 | AlO|E 7t/ R5210-7500A 1 1 1 1
6 |ZEZHIxF R5220D—7600 4 4 4 4
R5230-7010 1 @22
_ R5240-7010 1 @22
7 | SIx|Ht
R5250-7010 1 @22
R5260-7010 1 @22
8 |ZAESHI I/ R8310H-7020 2 2 2 2 @20
9 |azmal R8310H-7030 4 4 4 4 @5
10 |Eazal R8310H-7040 4 4 4 4 76
11 | A0O|A Z3|0|E/2 | R5210-7050 2 2 2 2 14T
12 | 7}0|=E E0|E R5210-7060 2 2 2 2 12T
13 |22xE30|E R5210-7070 2 2 2 2 8T
14 |ZIESHt AH0|A R8310H—0030A 8 8 8 8 @ 45x30L
15 | 2IX[E LP10055-D 8 8 8 8 @10
16 | =2gul PD03025 4 4 4 4 @3x25L
17 2E BH12C6125Z 4 4 4 4 M12x60Lx1.25P
18 | AZZIQIM WS12M 8 8 8 8 M12
19 |HE NH12125Z 8 8 8 8 M12x1.25P
20 |2E BH1266125Z 4 4 4 4 M12x30Lx1.25P
21 | ggl PD05040 2 2 2 2 @5x40L

AR5000HD

13



8. 5174t =t AGROs JEETIME

Section 8 | 2/2

A gk
= o £ e Hl T
m AR5230HD AR5240HD AR5250HD AR5260HD 12

22 |ZEEHT/C R8310H-7050 2 2 2 2 @20x90L
23 | 2lx|HietM R2180—-7080 2 2 2 2 4T

14 AR5000HD



_

EN
80

AGROS =35 [d]3

1/1

Section 9

[=
T
S
S NN ||~ — N~
w0
o
<t
[=
=
S
%2211131 — N - -
wn
o
<
ni0
<F
a
T
o
S NN =™~ — N~ |-
w0
o
<
[=
T
S
%22111311 N - -
wn
o
<
olololo|lo|lxT
5 RNV RY RN LB
I | T I I I
Tl o © 5225592883
N O I D O~ D FH| D
T > o o 9 oo Q212 Q2 Q) l g
DI H®ZH®H®R T T T T T o I
_aw___AWOOOOOO o
o o|lo|o SO TS 0V O - —
[ NN NN N~
222222%%%%%%2%
LK W W o o ']
O | e eI e
]
gl -
<| =
e o
s [UNRECAE I ol
Ll S T (|25 K o B0 m |
NI EX <l | &
VlMWl/l/l/m el E..ﬂw.mo
EOEE O Ko MoK
il e el i el Y o o
miw W W< ~ oM &
m1234567 © 0|9 =

15

AR5000HD



AGROS



